Multiplicar Dos Polinomios (D)

DO

Ot

Simplifique cada expresion.

(2" — 4t — 9¢*) (=8¢t + 9% 4 5c?)

(—7¢" +4¢° — 8¢%)(—5¢" + 8¢ + 8¢°)

(=3y* + 6y — 9)(8y* + 4y — 2)

(36" + 8¢ —9%) (4! + 4 — 4cP)

- (3a* — 9a + 9)(3a® + 9a* + 8a)
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Multiplicar Dos Polinomios (D) Respuestas

)

w

P

ot

Simplifique cada expresion.

(=26 — 4ct — 963 (=8¢ 4 9¢ + 5?)
= 16¢” + 14¢% + 26¢" — 1015 — 45¢°

(=7¢" +4¢° — 8¢*)(=5¢" + 8¢" + 8¢”)
= 35¢” — 76¢° + 169" — 32¢° — 64¢°

(=3 + 6y — 9)(8y* + 4y — 2)
= 24yt + 36y° — 42y — 48y + 18

(3¢ + 8¢t — 9¢%) (4t + 4c® — 4c?)
= 12¢” + 448 — 16¢" — 685 + 36¢°

- (3a* — 9a + Q)(3a3 + 9a* + 8a)
= 9a” — 30a” + 9a® + T2a
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